Efficiency vs dr

x 0.1
Q
©0.09
£0.08E
<
()
50.07E
= :
©0.06F |+
0.05F -+
0.04f
0.03f -+
0.02f
0.0 -4

o
= —s— DQM_V0001_R000000001__Global__mkFitQCDi1_RECO
04

iy
T

I —— DQM_V0001_R000000001__Global__mkFitQCDmod__RECO

0.95 : ::”]:' ”l IIE ||

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
0.8

0.7

0.6

0.5

0.4

efticiency vs AR(TP, jet

0.3

0.2

0.1

Vs

Ratio
N

107 1072 107t
AR(TP, jet)

Efficiency vs pu

50.02 . .
J0ST: SRR S

boig |

[ r . ]
D014 5o
= F : *
D.012F-++keee- -
0.01F---hee -
0.008f -+t
0.008f -+

L S | R AN S A A
0.002f -+ Feeeeorsdronsbon e

OLUG:""I"" ] !
= r 11t
g r 4

| A + 444 +4

0.95
2



	Contents
	Page 1


